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Hyperbolas Graphing and  properties
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Identify the vertices, foci, and asymptotes of each.  Then sketch the graph.
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Writign Equations of Hyperbolas: Use the information provided to write the standard form
equation of each hyperbola.

11)  Vertices: (-1, 5), (-1, -3)
Foci: (-1, 6), (-1, -4)

12)  Vertices: (-10, -5), (-10, -13)
Foci: (-10, -4), (-10, -14)

13)  Vertices: (9, 6), (9, -18)
Foci: (9, 7), (9, -19)

14)  Vertices: (6, 12), (6, 4)
Foci: (6, 13), (6, 3)

15)  Vertices: (-9, 13), (-9, 5)
Foci: (-9, 14), (-9, 4)

16)  Vertices: (5, 5), (-5, 5)
Foci: (13, 5), (-13, 5)

17)  Vertices: (-1, -7), (-11, -7)
Foci: (7, -7), (-19, -7)

18)  Vertices: (-7, 12), (-7, -12)
Foci: (-7, 13), (-7, -13)

19)  Vertices: (1, -8), (-5, -8)
Foci: (3, -8), (-7, -8)

20)  Vertices: (-2, -2), (-2, -10)
Foci: (-2, -1), (-2, -11)



©c B2r0f1C9K wKSuktPav NSoogfStYwmabr[eg CLVLMCR.H a NAdlela WrVicgqhNtxsv FryeSsceRrevEemdo.u H iM]ayd_eQ ^wviPtIhy \IDnLf\itnEidtMeK qPArieGcOazlJcfuhl^ugsM.

Worksheet by Kuta Software LLC

Precalculus

Hyperbolas Graphing and  properties

Name___________________________________
©S Z2J0Z1_9F pK[uftTav ASyocfbtiwwa`rjeR oLBLGCT.] m cADlAlR drSiCgBhptisY brMePsTeJrKveeydB.

-1-

Identify the vertices, foci, and asymptotes of each.  Then sketch the graph.
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Writign Equations of Hyperbolas: Use the information provided to write the standard form
equation of each hyperbola.

11)  Vertices: (-1, 5), (-1, -3)
Foci: (-1, 6), (-1, -4)
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